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2, .
99.3 m /min °

+

(1) HEaRs B B130% S ERRE)
L(2) B ERS KAKE
. 33585 2(ADF) 80,000 CMD
- & x8 R EMDF) 100,000 CMD
i < g (PHF) 130,000 CMD
3 nxu‘)'lﬁmu'57j'~7j~ 4
- £ BREBOD) 180 mg/L
- F3BOD &4 14,400 kg/day
. %% E 84 (SS) 180 mg/L
- TS & & 14,400 kg/day
L (4) B REEFAARE
. & 4% £, F(BOD) 20 mg/L
- BxE#Mm(SS) 20 mg/L
_L_{,,”E"
a)mmw
5 %t ER]
: @ mE(PHF) © 130,000 CMD = 1.505 CMS
B®E: 44 (EF—26R).
P AR 0.9 m/s( R &R EH)
MR R ¢ 50 mm
W E M 91 %
HE
ERAEHb ) EFHRAEZL
EERBLAE 1.505 CMS + 3IE = 0.502 CMS
W @A 0.502 CMS + 09 mis = 0.557 m’
W5 RE B 0557 m’ + 09 mis + 91 % =
BB ERLES 2.5 m
HER- &8 0680 m® =+ 25m- = 0.272 m
(2) L//IL%@? 7}'\7"?‘
<t
%3+ B (PHF) © 130,000 CMD = 1.505 CMS
BE: 1 E (A2 i)
Al K dARERAREXFEED
KA DER 3 min '
- HE
BRERL  EFRAEE
EREREAE: 1.505 CMS + - 1B = 1.505 CMS
PR AERE ZEBEM A ES
= 15 min > 1.505 CMS x 60 sec/min +
= 339 o EREHS 340 o
Jak R (X EXRIR)= 17.0m*10.0m*2m
TEEg= M0 m 2 340 m’, OK
CHECK & /148 85 fDT= 3400 m* - 1.505 CMS =+
= 3.8 min > 3 min, OK
gt R B (E E10%84%) 130,000 CMD 1.1 =

0.680 m’

60 sec/min

1440 min/day

% 1000 m’/min



SEBITAE(EE %) 100.0 m’/min + 4 B = 25.0 m’/min »
25.0

% 5.0 m’/min
a8k — 85 — 4 =2 w9 25 # &
#F (@) 2(14 8) 1 I 1 TREIZEHIEE  3~54
#E (CMM) 25.0 25.0 25.0 25.0
(3) @i R mES i
- £ |
%t E(PHF) 130,000 CMD = 1.505 CMS ,T
2% 4
KAEGEMDT - 25 sec (20-30sec » F ki T A2 E) |
CHE
RAEMN EFHAEOE
BEEELE 130,000 CMD = 4 E = 32,500 CMD
BEMEHHEV 32,500 CMD + 86400 sec/day x 2500 sec = 9.40 m’ }
AR WH= 136 m(R4EFARE) . . ;
RS R T (4B XKIE)= 3.0mx1.36m '
BEETRESE= 96 m' > 9.40 m* OK 5
CHECK* #1454 H-MDT= 96 m* = 0.376 CMS )
= 256 sec > 25 sec, OK :
(4) w3t
SR EA
#emEMDE) T 102453 CMD = 1.186 CMS
5E 12 & QERE > TARETEZREEE)
KAiEg e 1.5 HR (1.5-2HR » F ki T BAEFE)
REHKE M 60 CMD/m2  (35-70CMD/m2 » FARiEIZHEZEE)
- E
R &k ERBRE-RDHEN = _
= 102453 CMD =+ 60 CMD/m” = 1707.6 m*
BEEHE  EERELE
EE&H 1707.6 m* + 12 B = o 1423 mt
wEEL= 4:1 _
g AW xW= 14230 m*, W= 596 m, 4% 50m
Bl R= 1423 m’ =+ 50m = 285 m, # 300 m
TR @ 300 m % - 50m = 1500 m* = 1423 m’, OK
CHECK % @#% & #5= 102,453 CMD + 150.0 m* =+ 12 B
= 56.9 CMD/m’ < 60 CMD/m*> ,0K
LR KR 40m, [2.54.0m  FRiETR2EHEEE]
BB B = 150.0 m® x 40 m = 600.0 m’
it Rt (ExAxokiR)=  30.0mx5.0mx4.0m '
CHECK K /7 45 % 95 08 = 600:00 m® x 0 E  x 24 HR/day + |
102,453 CMD = 160 HR, % 4(1.52HR » FRETLFZREIBAE)
(5) &A%
- kit E 8
WA EMDE) T 102216 CMD = 1.183 CMS o
F/M : 0.25 keBOD/kgMLSS.day (0.2-04 kgBOD/kgMLSS.day » F kil T2 %45 %)
MLSS : 2000 mg/L (1500-2000 mg/L » T ki T REERE)
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MLVSS : 1400 mg/L (=0.7 xMLSS)
#;RBODE= 13,511.5 kg/day F/M 0.25 kgBOD/kgMLSS.day
6 MLSS=i¢ 5 BODE+FM= - 135115 kg/day +  0.25 = 54046.0 kg/day
BT A A V=t MLSS + MLSS = 54046.0 kg/day * 2000 mg/L x 1000
= 270230 ' ;  HALEMR ERREANE
EERH 27023.0 m° = S E = 3377.9 o’
HARE= ~ 60m; = 30.0 m
Bl E= 33779 o’ =+ 60m ~ 30.0 m = 1877 #19m
2 AR (EXExkE)=  =30.0m*x19mx6.0m
R 30%19%6 m’ = 34200 m* > 33779 m’, OK
KA EGER= 34200 m X 8§ B X 24 HR/day +
102,216 CMD = 6.4 HR 0K, [6-8HR » F ki T RMEHE]
CHECKZ% ## & %=1#%BODE +## = 135115 kgday + 34200 m 8 B
= 0.49 KgBODgm’.day (0.1-0.6, M&E), OK
(6) =it
- I ER R
#tRE(MDF) ¢ 102,216 CMD = 1.183 CMS
#E: 8 B
AAEGER 4 HR (3-5HR » TAETEBERE)
ABHAN 30 CMD/m®  (20-30CMD/m’ » FARETRHHRE)
#@F Lk 0.5 (50-100 % » F AGE T A2 RAHRE)
BEXBHRENERE 102,216 CMD x(1+0.5)= 153,324 CMD
AEHEF 30 CMD/m®  (20-30CMD/m’ » F A TR RHERE)
s EAkA 153,324 CMD  ~+ 30 CMD/m’ = 5110.8 m’
ERAML  EFREAE E
EEBHL: 51108 m* + 8B = 638.9 m’
Bl B fE= 285 m ¥ 290 m
FHREH= 29mx29mx3.14/4 = 6602 m2 > 638.9 m2, OK
CHECK % @k & #= 153,324 CMD =+ 6602 m® + 8 B
= 29.0 CMD/An’ < 30 CMD/m® ,0K
2% 3y K R= 36 m, [2.54.0m > FhEIRREERE]
BEEEHE= 6602 m* x 36m = 23767 o
CHECK & 7745 G 85 R = © 23767 m X .8 B X 24 HR/day +
(RAERE) 102,216 CMD = 45 HR A&(3-5HR @ FhiEIRERERER)
& = b Bb (EE XA )= 29mgx3.6m :
(7) Bk
- % R B
323t 7 B (MDF) 5040 CMD = 0.058 CMS (842 B 5%)
BT 4 B
KH B 240 CMD/m®  (<300CMD/m’ » FiE T A28k 464% )
BEs 15 kg/m2/day
#E @A BEABRELANEHN =
= 5,040 CMD + 240 CMD/m’ = 21.00 ™
BREEME  EFRAGDE
£ E @A 21.00 m* = 4 g o= 52 m



Bl g ie=
5@ H=
CHECKA& # & %=

259 m %
2.6mx2.6m>3.14/4 =

5,040 CMD =+

2.6 m

53 m > 52 m', OK

4B

m

5.3 =

= 2374 CMD/m’ < 240 CMD/m® 0K
i K & A SS= 60 mg/L(—ibikaEE)
CHECKE 4% & #5= 5,040 CMD x 60.0 mg/L + 53 m =+ 4 B
1,000 kg/m® = 142 kgmiiday < 15 kg/m’/day ,0K
(8) & i 2K BT 4%
< IEE A
# 3% B (MDF) : 5,040 CMD = 0.058 CMS (214 E5%)
B 2 E
K145 G R - 2 hr
. —_g.l-ia"_ .
RUPRE B M ° 2hr  x 5,040 CMD =+ 24 hr/day + 2 E
= 210 m’ Rt T 210 m’
HE B AEE R T (ExExAKR)= Imx6mx4m
TR H= 206 M = 210 o, OK
CHECK & /718 ¢ 8 = 216 M+ 0.058 CMS =+ 3600 sec/hr x
2B = 21 br > 2 br, OK
(10) S E £
c R :
wRE(PHF) © 5893 CMD = 0.068 CMS
®E: 1 & '
RAGBER 15 min, [ 2 15min @ F ki TA23%54% %)
HE
Rk 15mn  x 5893 CMD + 1440 min/day+ 1 &
- 614 m° Eoi#s 0 6 m
HERRT(EEEXEXKR)= 12mx1.8m*3m
#HH £ R (Fx XK )= 12mx1.8m (& — E#)3m
BEEREE- 648 m° = 63 m’, OK
CHECK7k /7 4# @ 8% 1 DT= 648 m* =+ 0.068 CMS = 60 sec/min x
: 1 & = 15.8 min > 15 min, OK
(11) iR E
< IR R
iR E(PHF) ¢ 124,414 CMD = 1.440 CMS
#E 4B |
RAE DGR 15 min, [ 215min @+ F k¥ T2 3%E4E 2]
FrEEA 15 min % 124414 CMD =+ 1440 min/day+ 4 m
= 3240 m' > AR 24 m’
HEART(EE EXEXKR)= © 36mx3.0m»3.0m
8K £ R+ (EXExKE)= 12.0mx9.0m (£ = % i#)»3.0m
EET G- 3240 m' = 324 o, OK
CHECKA 7 45 B a2 F = 3240 m*  + 1.440 CMS = 60 sec/min x
4 = 150 min = 15 min, OK
(12) BSR4
1% 335 £ (ADF) 1310 CMD = 0.015 CMS
#¥ 2 E(2EU L - FAEIEE®RELR)
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~ - _— = =2 .
EIRINFRE

PRE RS -

BREMR  EFRAE

b &A=
Al B &=

%95 RFF A R (EEXKR)=

(13) 35 iRR KE

#E
A
ElgwiE
- HE

BHEMBRE

FAEER -

BT RERME
) BzREE

1,310 CMD =

LT o i

1 hr

1310 CMD = 10,536 kg/day
1,310 CMD +
B BT
HACEWH=
30m =
35 m
3.5mep*3.0m.

27 m

270 m’ =
34 m: R

0.015 CMS

(F348)
24 hr/day = 2 B
27 m
"30m

9.0 m’

s (2t TAETRBEELEN (LT —akm)

WERED

80 % = 0.8

1310 CMD =

6 hr/day
13104 -CMD =+
10535.5 kg/day +

10,536 kg/day

EHBFREEESE(EY—aHR)  ERREE 450kg/hia

(14) FRFEILL

TS

%t B (ADF)

A
FHioB 3
El R & 4T ¢

SHE

BRREBRE

FE R

6.0 hriday=
6.0 hr/day=

(F358)

218.4 m’/hr
1755.9 kg/hr
1800.0 kg/hr

377 - CMD (R4FRHMMLFRE + REFR )
6 BEQEM L » FTAEILZBRERE)
BaHILE
30 day

2.4 kg VSS/m’.day(1.8-4.8 kg VSS/m’.day » M&E)

BARMA  EFRME2E

ERRH
#AFRWH=
Bl @ A=
B B 4=

HoE I R (EE

(15) 75 iRBLAH
st £

e AR E(ADF) ¢

L2
B

o
)

i o

NG T

N o

R
oo ob

- .’S‘_ ..
»\k}

ar i " b, A
[ o I T T

3
N
[ax
Y
b
e

6.5

377 CMD = 17,280 kg/day (F3498)
376.9 CMD x 30 day = 11305.8 m’
11305.8 o =+ 6 B = 18843 m’
11.0m
18843 m’ * 11.0 m = 171.3 m2
14.8 m iR 15.0 m
xKsE)=  15.0m¢x11.0m
417 CMD
8 48 (24E b TAEIBBREEEL)
ok IR AL
6 hr/day 5 dayfweek
80 % =08
95 % = 0.95
Polymer; 0.5% DS
417 CMD = 13487 kg/day (F#8)



BN R 417 CMD x 7 dayiweek

+ 5 day/week = 97.3 m’/hr
BB RES 13487.0 kg/day x . 7 day/week
+ 5 day/week = 3147.0 kg/hr
EnEFLZAREE D 200 kgmhr
TE5E 3147.0 kghr + 200 kg/m.hr + 8 &
= 20 m, % 20 m

WA BEX TR A S B E2.0m

¥ 6-6

6 hr/day

6 hr/day
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